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Násobení racionálních čísel

A

1. 4 . (+7) = (-2) . 9 = (-6) . (-1) = 
2. (+15) . (-11) = (-55 + 53) . (-47 + 44) =
3. (+12 + 3) . (-10 + 8 - 4) = 

4.
5 2.
2 3

 ć ć− − =   
č ř č ř

3 4.
4 3

 ć ć− =   
č ř č ř

3 .6
6

ć− = 
č ř

5.
1 15 . 4
5 2

 ć ć+ − =   
č ř č ř

6. (+4,9 – 8,1 + 3,8) . (-9,2) = 
7. (-9) + (-3) . (+11) = 
8. (+8) . (+3) . (-2) = 
9. (-0,5) . (-0,2) . (+0,8) = 

10. (-27) . (-
13
9

) . 0 = 

11. (-0,6) . (-
13
30

) . (-10) = 

12. 4 . 
15
3

ć− 
č ř

 . (-1,2) + 13 . (-0,95) . 0 . (-5) = 

13. (-14,2) . (-1) – (+5,2) . (-2) . (-5) = 

B

1. 3 . (+9) = (-3) . 8 = (-4) . (-1) =
2. (+14) . (-10) = (-44 + 42) . (-16 + 13) =
3. (-14 + 5) . (-12 + 9 - 6) =

4.
3 2.
2 5

 ć ć− − =   
č ř č ř

2 5.
5 2

 ć ć− =   
č ř č ř

5 .7
7

ć− = 
č ř

5.
2 23 . 2
3 5

 ć ć+ − =   
č ř č ř

6. (+2,3 – 5,8 + 4,2) . (-5,2) = 
7. (-8) + (-4) . (+9) =
8.  (+7) . (+4) . (-3) =
9. (-0,4) . (+0,7) . (+0,5) =

10.  (-18) . (-
5
27

) . 0 =

11. (-0,3) . (-
12
21

) . (-7) =

12. 3 . 
13
2

ć− 
č ř

 . (-1,2) + 14 . (-0,36) . 0 . (-15) =

13. (-9,7) . (-1) – (+5,3) . (-10) . (-0,3) =



Dělení racionálních čísel

A

1. 18 : 36 = 
2. 600 : 200 = 
3. 0,14 : 0,35 =

4.
1 2:
2 5

=

5. 2,3 : 2 = 

6.
14 : 2
2

=

7.
2 : 0,4
3

=

8.
1 15 : 4
2 2

=

B

1. 16 : 24 =
2. 300 : 900 =
3. 0,15 : 0,45 =

4.
1 2:
4 3

=

5. 3,1 : 4 =

6.
15 :3
3

=

7.
3 : 0,6
5

=

8.
3 12 : 4
4 2

=



Násobení a dělení racionálních 
čísel – řešení

A

1. 4 . (+7) = 28 (-2) . 9 = -18 (-6) . (-1) = 6
2. (+15) . (-11) = -165 (-55 + 53) . (-47 + 44) =-2 . (-3) = 6
3.  (+12 + 3) . (-10 + 8 - 4) = 15 . (-6) = -90

4.
5 2.
2 3

 ć ć− − =   
č ř č ř

 
5 21
3 3

=
1 1
1

3 4.
4 3

 ć ć− = −   
č ř č

= −
ř

3 .6
6

3 3
1

ć− =
č

−
ř

= −

5.
26 9 13 9 117 223
5

1 15 . 4
2 55 5 1 52

 ć ć+ − = 
⋅− ⋅ 

č ř
= − = − = −

ř ⋅č
6. (+4,9 – 8,1 + 3,8) . (-9,2) = 0,6 . (-9,2) = -5,52
7. (-9) + (-3) . (+11) = -9 + (-33) = -42
8. (+8) . (+3) . (-2) = -48
9. (-0,5) . (-0,2) . (+0,8) = 0,08

10. (-27) . (-
13
9

) . 0 = 0

11. (-0,6) . (-
13
30

) . (-10) = 
6 13 1 13 2,6
1 30 1 5

⋅= ⋅ = − = −
⋅

12. 4 . 
15
3

ć− 
č ř

 . (-1,2) + 13 . (-0,95) . 0 . (-5) = =

4 16 6 64 6 64 2 1280 25,6
1 3 5 3 5 1 5 5

⋅  ć ć ć− ⋅ ⋅ − + = − ⋅ − = = =      ⋅č ř č ř č ř
13. (-14,2) . (-1) – (+5,2) . (-2) . (-5) = 14,2 – 52 = -37,8

B

1. 3 . (+9) = 27 (-3) . 8 = -24 (-4) . (-1) = 4
2. (+14) . (-10) = -140 (-44 + 42) . (-16 + 13) = -2 . (-3) = 6
3. (-14 + 5) . (-12 + 9 - 6) = -9 . (-9) = 81

4.
3 2.
2 5

3
5

 ć ć− − =   
č ř č ř

2 5.
5 2

 ć ć− =   
č ř č ř

-1
5 .7
7

ć− = 
č ř

-5

5.
2 23 . 2
3

11 12 11 4 4
5

8
3 5 1 5 5

⋅− ć ć+ − =    ⋅ = − =
č

−
⋅č ř ř

6. (+2,3 – 5,8 + 4,2) . (-5,2) = 0,7 . (-5,2) = -3,64
7. (-8) + (-4) . (+9) = -8 - 36 = -44
8.  (+7) . (+4) . (-3) = -84
9. (-0,4) . (+0,7) . (+0,5) = -0,14

10.  (-18) . (-
5
27

) . 0 = 0

11. (-0,3) . (-
12
21

) . (-7) = 
3 12 7 3 6 1 18 3 11 1 1,2
10 21 1 5 3 1 15 15 5

⋅ ⋅ ⋅ ⋅− = − = − = − = − = −
⋅ ⋅ ⋅ ⋅

12. 3 . 
13
2

ć− 
č ř

 . (-1,2) + 14 . (-0,36) . 0 . (-15) = =

7 1 21 6 21 3 633 1 0 12,6
2 5 2 5 1 5 5

⋅ ć ć− ⋅ − + = ⋅ = = =    ⋅č ř č ř
13. (-9,7) . (-1) – (+5,3) . (-10) . (-0,3) = 9,7 – 15,9 = -6,2



A

1. 18 : 36 = 0,5
2. 600 : 200 = 3
3. 0,14 : 0,35 = 0,4

4.
1 2:
2 5

=  
1 5 5 11
2 2 4 4

⋅ = =

5. 2,3 : 2 = 1,15

6.
14 : 2
2

=  
4 5 4 2 8 3: 1
1 2 1 5 5 5

= ⋅ = =

7.
2 : 0,4
3

=  
2 4 2 10 1.10 10 4 2: 1 1
3 10 3 4 3.2 6 6 3

= ⋅ = = = =

8.
1 15 : 4
2 2

=  
11 9 11 2 11.1 11 2: 1
2 2 2 9 1.9 9 9

= ⋅ = = =

  = 5,5 : 4,5 = 1, 2

B

1. 16 : 24 = 0,6
2. 300 : 900 = 0,3
3. 0,15 : 0,45 = 0,3

4.
1 2:
4 3

=  
1 3 3
4 2 8

⋅ =

5. 3,1 : 4 = 0,775

6.
15 :3
3

=  
5 10 5 3 1.3 3 1: 1
1 3 1 10 1.2 2 2

= ⋅ = = =

7.
3 : 0,6
5

=  
3 6 3 10 1.2 2: 1
5 10 5 6 1.2 2

= ⋅ = = =

8.
3 12 : 4
4 2

=  
11 9 11 2 11.1 11:
4 2 4 9 2.9 18

= ⋅ = =

  = 2,75 : 4,5 = 0,61


